Soustraction Avec Un Zéro (E)

60
- 58

70
- 58

800
- 629

20
-19

600
-426

900
-515

70
-63

Calculez la différence.

90
-18

400
-93

300
-273

10

70
- 14

700 70
- 469 - 20
400 200
- 256 -136
800 70
- 612 -9
60 300
- 36 -63
400 100
- 397 - 86
40 40
-3 -10
600 800
-178 - 313

50
- 27

900
- 88
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Soustraction Avec Un Zéro (E) Réponses

Calculez la différence.

60 700 70 90

- 58 - 469 - 20 -18
2 231 50 72

70 400 200 400

- 58 - 256 -136 -93
12 144 64 307
800 800 70 300
- 629 - 612 -9 -273
171 188 61 27
20 60 300 10
-19 - 36 -63 -2
1 24 237 8
600 400 100 70
-426 - 397 - 86 -14
174 3 14 56
900 40 40 50
-515 -3 -10 - 27
385 37 30 23
70 600 800 900
-63 -178 - 313 - 88
7 422 487 812
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